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(3) A
AT - I/PART - 1
91 fqerg ud f3e19mes/ CHILD DEVELOPMENT AND PEDAGOGY
Fder : =it godt @ v 37 # o 98 ofed Reer gie

Direction : Answer the following questions by selecting the most appropriate option.

1. fromrreeen & ars & 923 34 fora 1. To cooperate the adolescent it 1is
EEF & essential to
(1) o (1) Inspire
(2) T e (2) Indicate his mistakes
(3) STEAIEAT HIA (3) Criticise him
(4) SPAHE Age FIT (4) Do negative behaviour
2. U IA® b QAHEIEHI %@ HAYE 21 2. Which of the following is not a
gt 8 fyefefag & | -G wfar suitable technique used by teachers
SgH T8 e ? for socializing the child ?
(1) e fareror (1) Direct teaching
(2) AIETHIHLT (2) Identification
(3) Y= STFATHA (3) Democratic discipline
(4) JAFT-HTH (4) Over-protection
3. % RO & @ @ R # Frefafea 3. Which of the following is a wrong
¥ 77 9T A8 7 statement about emotions of an
adolescent ?
(1) ga offvef ot @ oftafdd (1) Emotional expressions are
e B modified by learning.
(2) T T e 2 (2) Emotions are permanent.
(3) Y% G H TF HEA JEI el 2 (3) Every emotion is accompanied by
‘ a feeling.
(4) AT g Gﬁﬁ & A B 2 (4) Emotions are aroused by external
stimuli.
4, O faem 9 acd ® 4. Inclusive education means
(1) aafFrE et & amrg HE-Fe (1) Meeting individual differences in
| PRGN general classroom.
(2) = Pt & B Fenet (2) Meeting individual differences in
| Tq T different classroom.
(3) AT Fr=raneti 1 ffire e (3) Meeting individual differences in
d P U IS special schools.
(4) =R e @@ 9 98 Gﬂ%?l:[ (4) Meeting individual differences in
2HT 9 BT home based instruction.

Level-3/171 P.T.0;
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Fraaen § @ger g wAEi W oEd
e 999 qgd 8

(1) faes @

(2) wrar-fyar @

(3) wH-aIEt #:;

(4) ==t F

BE ¥ ARE g woadE w9 & e
fFar o T 2, ot st

(1) R-AR g4 3t a1 |
(2) @ I W AT FT|
(3) Wer =¥t @ FerE g |
(4) -3 F A F2

e o af § 3 9rgan @ik

. e T w0 § weEsE B, S B

(1) gd 9T J&H &
(2) Sfod agre, Reemen, g@EE 6
frrepd feveprere |

(3) FB IGH FA AT FET FEA

(4) wiafea @t Rt &1 T #o)
aftmasd o srews B e @

ZFE F1 gam Ay
(1) WHa=E (2) TS
(3) wd=®  (4) FEETE

frfafgd & & @9 fsiaer &
T s & 0 wEer 787 & 7

(1) A 9 T B F AT qed
QK|

2) fgia & & oy smwdor e
(3) ¥ "E9t § S =0 B

(4) faftre sfedt & Rrar @

Level-3/171

(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent,
by parents and teachers is

(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is neot a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High
relationship

decrease in  friendly

(4) Extension of special interests



10.

11.

12.

13.

14.

% R o 9 B A P F g
§8 @ oW a1 foe, 39 e @
T &

(1) FATPT HIBK

(2) s Faer

(3) Ted HFER

(4) Tt fomeq wet

UM YT G gt #

(1) g% 9 8
(2) TR & o fre @

(3) @Wé gEl (Wda) g A
(4) TR T FE @

‘wad T AE FEE (CCE) &

R 2

(1) Fa9 ITF B qHAHR F IAHT
HE |

(2) e & af o8l # geiET H

(3) ®ad B & T F YeAEA HCA|

(4) Fa9 B F GHH F GAET B

Frefefad § & @@ gowoe aws

F fadrar (Frgan) 787 & 7

(1) s

(2) Hferepan

(3) fagrza
(4) T

e ufewe & ard
(1) 9% % Hger § 89 g5 Uiadd |

(2) frers 3t faweor fftat # ofteads
(3) UIFEE] & GREEH |

(4) TEaE] F f B
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(5)

10.

11.

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
mistakes

without  committing

(3)

(4) Doing mathematical calculations

Listening message properly

Continuous and  Comprehensive
Evaluation (CCE) aims to evaluate
(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.
(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

P.T. O,



15.

16.

17.

18.

a # A R a9y g B 7

(1) 99 & 99 & 999
2) dsEEE 3 A

(3) fepeimeeen & 2mm
(4) TTEHEET T AT

qeh & @t e Ao & A
Frefafes & & #9-@1 gy SugE
TEl e ?

(1) I Argarstt $ e 2F =R |

(2) I9gFE GRW X AvER IqeE FHE
T =R |

(3) 3% fafga (daw) v & =nfew
(4) i@l a9

fReitl & @y, 9 =9 ¥ SraumE
Rl & @Y FE Fa 999 47 I
TEFE ?

(1) SRS SIFH

(2) YT I9FTH

(3) #ufed IUFM

(4) oTEst I

e Hedt &

(1) 9% & T e §

(2) TTF P G FEE
(3) 9% & qmhiE fwm §
(4) 9% F wighos faam §

Level-3/171

(6)

15.

16.

17.

18.

Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not individual
differences among learners ?

suitable to meet

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is
not appropriate ?

adolescents,

(1) Critical approach
(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child



19.

20.

21.

22.

TF o8 ANE P U drEd F g
F AFFA FEEF B, A

(1) 399 SIEA @MU T § g
foyerelt 21

@) TEEEE @ e I F weE
et 21

(3) UEFER F W TF A T A
ergdr et 2 |

(4) 309 999 F T99 26 2|

e gER & qfeen, # Frefefeg §
8 FF-8 Ay 722 7

(1) fwEeEEar  (2) aEgeEd
(3) Juam (4) ARFAE

Fiifoardl Fer-Fe # peforEd F @
P-4 e ¥ ?

(1) BE ZW AR @ doT g
frepd P it ew Frepat i

qA A |
2) M IS, wEaEE o o #1

(3) A9F AAFNE FTH BET
AT Ha 2|
(4) BF ‘Gé' IUX H T € |

frafafag & & fF-a sfom &1 @
qFeR® A Sfauied st # o
fram & 7

(1) 9B # fFEm
(2) F9E H FaH
3) Tl F P
(4) wahT &1 Fraw

Level-3/171

(7)

19.

20.

21.

22.

A

The knowledge of principles of
learning is must for a good teacher,
because

(1

It helps in maintaining discipline.

(2) It helps to maké content

interesting.

(3) It helps to understand the content

by simple methods.

It saves time.

(4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare

design experiments,

their findings.
(2) Knowledge is objective, universal
and complete.
(3) Teacher transmits authoritative
knowledge to students.
Students look for the

answer.

(4) 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

| b 3



23.

24.

25.

26.

27.

e & oger @ws @t APE @
quEE Woaes fEw @ny @ f
arg & o R, g faem Frefafeg
q F-d ol F dar ¥ ?

(1) S rames safy

) T frames orafy

(3) d-Prars srafy

(4) sfea fq srafy

TF qF F GOHTEEAl & olEd 2,

NFEME IR I & a9l QHIE
faF 1 WX FEN 2, TE ISR ©

(1) =T gfems 3T

(2) 30 IS =T

(3) i =

(4) A9 ArY afEE S

& AR AEeE 9 S Bl ager

B Y FH, FERE FH 91 ST
W@ P 4gT F 2, Pear &

(1) s (2) g

(3) g (4) SISO

G A AU A A emErt A g
2 9 € HbiE I I

(1) gie afer (1.Q) &t ®1

(2) AMF afer (A.Q.) &t ¥

(3) wiaf® @fer (E.Q.) &t 31

(4) meafens @fer (S.Q.) Bl B

frera g BT | 99 @ W% SEET
2T 2, e #1 g% ferd wear @

(1) faured & vaedtg

(2) MRS (=T & Tt @ o)
(3) |mMrg | fafire
(4) R

Level-3/171

(8)

23.

24,

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that

arouses, directs and maintains
behaviour is called as
(1) Interest (2) Opinion

(8) Attitude  (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal

principle of



28.

29,

30.

% BE A1 qher & R #few uitsm
FT T &1 I M 7 I oD oiF
AN YT AreTEnEa 3 & g g
g ot ®

(1) =i Seom

(2) & AT

(3) g S

(4) I=<IRF T @ AT

Afrmdl #fed UM & @y A
frfoigd & & ot F99 Jo7 ¢ 98 §

(1) g8 ftpmeat @ graanell, ewanst
A st et 1 = @ B

(2) F& I, IEEET X @9 @
e YT g9 T 2

(3) & THTF B SrHEHAl H FH
T 9T 9 ol 2|

(4) T& SIWAST-SATH, FHE-FHYM,
TIOE-AMES G gemeid-aad
S R # e e B

F B # Er T oA o

gt a@ s 3 FGER B OF;
e &7

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation
Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities,
learning styles.

capacities and

It stresses the importance of
enquiry,
investigation.

(3) It emphasises

knowledge to the learner by the

teacher.

(2)

observation and

transmitting

(4) It uses methods like experiential
learning, problem solving, concept

mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) AR (1) Aggression
(2) G (2) Defence
(3) ITEIHTT (3) Denial
(4) 9¥ETHA (4) Retrogression
Level-3/171 P.T.O
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AT - I/PART - II
7o - 1 (f8=t) / LANGUAGE - I (HINDI)

Fré%r : Feiriia 7o gt &7 3 fow qa@ afya e ghm
31. 7y RAF A TE=IfC 36. ‘Gl gH omd & F o FEr WY Fwar )
(1) Rt = fa + i T a9 B @@ I &
(2) JETER = JEF + 941 (1) ST~ ST
@) 7 =79 + & (2) BRI YT
(4)?F1Fﬂﬂ=ﬂ'rﬂ+;ﬂﬂ (3) Eﬁ?qw
32. ‘A’ s F FF-A GO WM OE 7 (4) T T
(n 3 2 w 37. Tom® o= sfafed w=n & ™ & gon
@) = (4) o B -3 fm gz o=
33. ‘a® PrE W W Rew T A - & R W
T = G () @
(1) SToEE @) o g
(2) STET
(3) STHId () T
% S 38. %9 9= 4 gym 1 e & fwlE @@
a9 T, ofg Rvik afe s@m Ren
34. ‘N A oy Th A B g 0 - T E
% R o a= ® (1) R
(1) g @) Fae
(2) SR (3) @
(3) Shfteraferr () @
W 39. fPm s=x & 9 yww ;M WM gw &
35. Fr=1 o=t ¥ & @9-w 9= ‘@@ ? q 7Efgan e ?

(1) ™
©2) RarE
(3) THEIRT
(4) 9T

Level-3/171

(1) Feredt
(2) @
(3) et
(4) HrEt



40.

41.

42,

43.

44.

F @A @ ogw gl 3@ amg A
CREAIREIR CRHUNIET B

(1) T

(2) | 9

(3) TEH

(4) i 9a

T 3 gfte F W ym AR ?
(1) =17

(2) =S G

(3) fasm

(4) &

- 9= ‘4 F qgigarE 78 ¢ 7
(1) #igs

(2) fafrEmas

(3) 99

(4) g

i o= B gel gt @
1H & +3

2) T6 + &

3) T6 + 3@

4) M +49

(1) Frf + geEe

(2) A + g

(3) AT + @

(4) AR + $5aX

Level-3/171

(11)

45.

46.

47.

48.

49.

Rt &t ‘& afy e # 3t §
(1) STEIHTT-GE

(2) WETIT-9HY

(3) FTTT-3T9Y

(4) HEWII-3HY

FEAE’ 9= H I9gH HEE FOFE
F

(1) faimr ey

(2) T TG

(3) W AgEY

(4) =gdi agET

YT T AT T YT T &FF), AT AT
I @ T, do, dwe ~ Al B
fere @et ord F1 =F FfC

(1) HemE & S &t fasmar

(2) T, 09, TH F A AW YW B
(3) FUEETF TEGA A & I

(4) TeeEht & TERT § G| S

Suat fed o= ®
(1) g

(2) ga

(3) STcaferE

4) fRa

o e # g
(1) Srd-ad

(2) SHT-"HRHT
(3) FHEA-fFEE

(4) dUT-TET

P.T. 0.



P’ BE o &1 9= R ?
(1) S
(2) FIHt
(3) sh
) =

50.

51.

GG T TR oo B fam
®F & i g g= & T1a $t
(1)

©@

(3) %

(4) R

Rew s & selare @ @1 wam 78F
g & 7

(1) FaEMET

(2) wEmE

(3) e

(4) FAEAH

Vo = # GRem @ A ?
(1) FarE

2) ¥

(3) A

(4) e
?Wﬁmﬁﬁfﬁﬂm 7eT g3
?

(1) TS

(2) R

(3) AR

(4) Tl

Level-3/171

52.

53.

54.

(12)

55. ofgfe Ol AT 9 Eifey

(1) e
(2) s

(3) wiEfers
(4) wHIHE

R : il T @ B 5 9 SR
18 7 797 (797 7w 56 | 60) 2 Fv Ao

I § WoU & wEee oK ohfag &t
T A fRF o e A Rl e
FFET IR T B 1 TH W W A 99w o
¥ orlin 3 o R @ ww A A
T 2 ¥ O g W W A ongfe ¥ A
b ToF WA @ W A o § dwa ¥
I 2 |

TRl T Y e @ e @ e
3 30 ShE @ g oR qEgEr
fer 21 swidm @9 @1 o

k!
5

s
A

e dtaelt & SR SEael @
iy sofedl § & & ™ @ B e awwm
& & 9 ) weER @rh 7 Ao 9w 3 oW
i e 1 fda B B 3w o A
& ot % P SR SEE & R
HET WA w9 e o i e

) 3 TR @ HE gen A o
EE-HEIEE Gl AR F IS Fome
F REw & T MR F & R aE



I F A A A9 F FE g T gan
gl R Sy 7§ gaq e @ oY & |y
o e oEET o g 7 R & @8
g & omd Furr @ A | W g6 R

¥ 3 3@ yaR wafed & ¢ B 3R gug wuw
3 w9 ¥ @ g9g T

T 9@ & AR WO A G 2 S|
FH FZTE H BIZH e Al H AN IYE
g & I ddEeE T B JEEE gge € |
i sfemEdl & STER Td #e 0
U g1 o1 TE WOUst & fedwer & dicrarn
q1| UREed R GREeE # #E ST @ 4
I T TIT d AW W FW G T
groomd Rt g8 P gefom & o o
R B

g 8 W ¢ B ol # I gEd
WAl # @it e I 98 W ¥
e 78 ® 5wyt onfa oft agwfa wuw
FEYT T B Y| W@l Wi H sy
@ AfeHA F AW | qFS TG H Fedad |
g3l FN 0 AfeF B T o™ R
e ol oet st oM 7 Wow @ 921 88 @
AsF a9 3 & 91 F 3 87 & B 2T
W H GeEied ot qegE aRmiffd &
M FEEF & T IEH @ a4 T & B oga
F1 3 q srErTe fpar e

56. A FAE @ R @
(1) "R q9ER
(2) Wy fade
(3) T % Ty qRFd
(4) 1 R o &

(13)

57.

58.

59.

60.

e g faded & ¢

() N EEE &

(ii) WEWH W9REE &

(iii) gV =FEn &

(iv) gtz fawas aiewea T &
sfed W R & g ¢
(1) () @ (iv)

(2) (iii) T (iv)

(3) A (i)

(4) Fa (i)

ARG H TGS SO H FEEH B
(1) st A (2) g A
@) Fm A (4 | A

fosedyor | e @
(1) TG

2) frae

(3) =rEn

(4) wiemr Hqe4

WEA=AY WRd § dfes faemd @
(1) Sy

(2) Y9 SR

(3) o Fr Feak ¥ @eT H
(4) FAET AT R

Level-3/171
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T - 111/ PART - 111

ST - 11 (3{ASH)/LANGUAGE - IT (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch),
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copl.....ii: = Plentiful

(2) some
(3) ose
(4) ful

Level-3/171

64.

65.

66.

‘1 don't enjoy going to the dentist.

The word ‘'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the
park.

(3) Mother said us not to go to the
park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

Choose

construction of the sentence :

the correct passive

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/171
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Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72,

(1)

2

3

4)

(1

(2)

(3

@

(1)

(2

(3)

(4)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

P.T.O.



73. (1)

3)

4)

74. (1)
(2)
3)

4)

75.

Choose

You certainly did not ought to do
it.

You certainly ought not to have

done it.

You certainly did not ought to

have done it.

You certainly ought not to have

been done it.

Who was the book given to ?
Who the book was given to ?
The book was given to who ?

Whom was the book given to ?

the  correct phonetic

transcription of the word 'Locate’

(1)

(2)

(3)

4

Nuket/

Nakeit/

Nou'keit/

Nauket/
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76. Choose the correct direct speech of

77.

78.

the given reported speech :

He said I'd better go because it was late,

(1) He said, "You'd better go because

it's late."

2

He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3). Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is
correct ?

(1) My father's foot was put down
when [ said I wanted a car for my
seventeenth birthday. He said 1
was too young,

(2) My father down put the foot when
I said I wanted a car for my
seventeenth birthday. He said I
am too young.

(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(4) All options are wrong

80. Since you were not there, [ left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/171
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension,

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T. O



82,

83.

84.

85.

What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

" (4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.
(3) Common sense feels the air of

truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
8EVEN’ ..ceviverererinsnss o

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which is not a synonym of the word
'pedant’' ?

(1) dogmatist
(2) formalist
(3) perfectionist
(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ........... child should learn to read and
write,

(1) All (2) Every
(3) Whole (4) Both
87. Can I ask your ..........., do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice
88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in
(3) on (4) by

89. Take some medicine and the pain will

8O wovreeeanne
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/171
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HT-IV/PART -1V

T4 / COMMERCE
Fdsr : F=ifarga geqt # gae @7 # ke g8 ofea R# giag/

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

FHIE T 8 7
(1) arfes @
(2) SMHEEA Gl
(3) AfeTE @
(4) ==

U g9 Bl §
(1) THEEE a9
(2) = g9
(3) HIL gl
(4) R s

Frfafaa § § ®9-81 3@ SET 9%
% T 78T & ?

(1) SEmaE

(2) fawmE

(3) T fawmiesTeT

(4) &9

a1 fadar S HadAIHS 38T H AT
FH B U AT B dJadE
frgor & @ ® 9gF F@ & 7

(1) fesm=

(2) HFr faEn

(3) &AM HIe

(4) ygy e

fpg B+i® # GATT #: WTO #
giafaa f&ar @ ? '

(1) 315Fad, 1995

(2) 199atl, 1995

(3) 303, 1995

(4) 31 &=y, 1995
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91.

92.

93.

94.

95.

Commission received is
(1) Real account

(2) Nominal account
(3) Personal account
(4) Laiability

Master budget is

(1) Functional Budget
(2) Operating Budget
(3) Summary Budget
(4) Financial Budget

Which of the following is not the
stage of product life cycle ?

(1) Introduction

(2) Growth

(3) Market segmentation

(4) Decline

Which element of the promotion mix
do wholesalers generally apply to
obtain their promotional objective ?
(1) Advertising

(2) Personal selling

(3) Trade promotion

(4) Direct marketing

On what date GATT was transformed
into WTO ?

(1) 31 dJanuary, 1995

(2) 1January, 1995

(3) 30 June, 1995

(4) 31 December, 1995

P.T. 0.



96.

7.

98.

99.

100.

XARY3: 23 oua & & R

A Bl M Z W@ w ¥ @y Ry

foreeer feedr 1/5 @9 g3 | 3P Z J 3/20

e X & @R 1/20 B Y & 9@

R, @t = s R s A

(1) 9:7:4 (2) 8:8:4

(3) 6:10:4 (4) 10:6:4

IS 7o serefisRer g &1 fras g

g [ S ® 7

(1) dArd e & fe

(2) faewell & @ & foe

(3) @ IErl % fo

(4) SEmERT # fag

?ﬁﬁﬁaﬁﬁmmmmvﬁ
?

(1) Teedi # fraio

(2) AT O FE

(3) FfIF oI F geiET

(4) e

&

(1) (), (i), (i) A (iv)

gg E“;)( i) 3T (iv)
13 lll v
(4) (i), (ii) 3T (iii)

FRN F Fo aMo o (e,
o, e omaaEd) faera @
aferre Rear

(1) % gard J

(2) @]

(3) TETH A

(4) dreT 3@ A
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96.

97.

98.

99,

100.

X and Y shares profits in the ratio of
3 : 2. Z was admitted as partner who
sets 1/5 share. New profit sharing
ratio, if Z acquires 3/20 from X and

1/20 from Y would be
(1) 9:7:4 (2) 8:8:4
3) 6:10:4 (4) 10:6:4

ISI is the Quality Certification mark
used in case of

(1) Beauty products

(2) Electrical equipments

(3) Food products

(4) Automobile

Which of the following is not a part of
planning process ?

(1) Setting objectives

(2) Implementing plans

(3) Measurement of
performance

(4) Follow-up

actual

Consider the following items :

i.  Debenture

ii. Prepaid rent

ili. Interest accrued

iv. Bank overdraft

Which of them are current liabilities ?
(1) (), (1), (iii) and (iv)

(2) @Gv)

(3) (i1), (iii) and (iv)

(4) (1), (i1) and (ii1)

ERG (Existence; Relatedness, Growth
needs) theory of motivation was
developed by

(1) Freud Luthans
(2) Scott

(3) Alderfer

(4) Peter Drucker



1010

102.

103.

104.

105.

106.

fiod % offe sfoear 3 oo & oW
fepa

(1) 130F 1934

(2) 1930 1935 F

(3) 1594 1934 H

(4) 157930 1935

fraTefiere STuTl #I Fel S &

(1) FTITN ST

(2) AR G

(3) I I

(4) FFIA SFI T A ST

0 # Ui dea/AEn 3 'y

ol e g H fEl o ?

(1) 1992 % (2) 1993 ¥

(3) 1994 % (4) 1995 %

FE HT gl (3F0r /)

gftoms # 2 2

(1) Freraz e shfaw

(2) S=iE Heree SAifgs

() = =iy fadg 9%

(4) I=EE ufq g @ (3o o
THo)

391 & f o 2

(1) H A & A T BFA W

(2) 99 ¥ IuReq 7 29 @ Rafy §

(3)%53&0765[%??@

(4) dfdfy & =9 F sigt @ TuE A
W

afe e @St 60,000 F9F, SAET
5,000 93, & ¥ sfafad Tof 10,000
TR, afxm Tt 90,000 T ¥, o af
% AT FHET T GTH A

(1) 20,000 %o
(3) 30,000 %o

(2) 25,000 To
(4) 40,000 %o
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101.

102.

103.

104.

105.

106.

A
Reserve Bank
functioning on
(1) 1 April 1934
(2) 1 April 1935
(3) 1January 1934
(4) 1dJanuary 1935

of India started its

Activity ratios are also termed as

(1) Efficiency ratios

(2) Turnover ratios

(3) Leverage ratios

(4) Efficiency ratios and Turnover ratios

SEBI was recognised as statutory
organisation in the year

(1) 1992 (2) 1993

(3) 1994 (4) 1995

Higher debt equity ratio (debt/equity)
result in

(1) Lower financial risk

(2) Higher degree of operating risk
(3) Low financial crisis

(4) Higher EPS

Share can be forfeited

(1) For non-payment of call money

(2) For failure to attend meetings

(3) For failure to repay the loan to
the bank

(4) For which shares are pledge as a

security

If opening capital is Rs. 60,000,
Rs. 5,000, capital
introduced. during the period
Rs. 10,000, closing capital Rs. 90,000.
The value of profit earned during the
period will be

(1) Rs. 20,000 (2) Rs. 25,000

(3) Rs. 30,000 (4) Rs. 40,000

drawings

P.T. O,



108.

109.

110.

111.

) FTE (2 T
(3) ZFam (4) afqr

U -ANNE wEn g8 oaa & 8

(1) -2 M
(2) M- @i
(3) W9-BI @rar
(4) onfde-fazer

e SUEN @ 3§ YER gfid

Frar T 2

(1) T drd Pl &= dar 1™
T @ HgE S & =
AT 2

(2) T HIET T aE  SYFHTare
T SAEFAS H O A &

(3) wH HIeq forad gel Faw @ g
frar e @

(4) T dTeq e @ftE wd gay
AEAE  TiPET B A
seedl 3 fore Rpar o @

OFR TF 10 %o & 9 [ 9 8 Fo
e 1 SO & T 6 Fo F YT 2
gH & W B e & g% ¥ aaRy R
o1 Gott @ fpe far @ 3fae e ?
(1) 6 o (2) 2 %o

(3) 10 o (4) 8 %o

FA-dl auiE e Fre o ol

Hgfg ¥ X 3= IO Sig F FR
T TR A B i Fd B 7

(1) =
(2) Hq F3

(3) 9 faga

4) €X
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110.

111,

are the obligations or debts

...............

‘that an enterprise has to pay at some

time in the future.
(1) Debenture (2) Capital
(3) Liabilities (4) Share

A non-profit organization does not
prepare

(1) Income and Expenditure Account
(2) Receipts and Payments Account
(3) Profit and Loss Account

(4) Balance Sheet

Public enterprises is defined as

(1) An organization run by joint
efforts of Centre and State
Governments

(2) An organization which caters to
the needs relating to public
utilities

(3) An organization in which capital
is invested by public

(4) An organization owned and
managed by public authorities
for definite set of public purposes

If the share of Rs. 10 on which Rs. 8 1s
called up and Rs. 6 is paid, is forfeited.
State with what amount the share
capital account will be debited ?

(1) Rs. 6 (2) Rs.2
(3) Rs. 10 (4) Rs. 8
Which  business unit  generates

substantial cash surpluses due to low
industrial growth rate and high market
share ?

(1) Dog

(2) Cash cow

(3) Question mark

(4) Star



112.

113.

114.

115.

et & & @9 FomEe BEe #@)

gHfad 787 Hem ?

(1) AFT FG FA

(2) wsfH 1 faseg

(3) FoTgEl H WfEy 9T qiEe

(4) G99 ud mIA 9 ' IquieEd
far

gl - 13 gt - 11 & |19 gafaa &t
@ Re o g # wema d get
I qET B

gt -1 gdl -1
A, FE F =@ I 91 T
B. sifafasd 11 AWy Fq
C. v =g 1199 wd anfagy
D. 3igit # frfe o it IVERm q9f
FT

A B C D
(1) 11 I IV 111
@2 1 11 IV 111
3) I I1 Inr 1Iv
4) 11 I I 1v
TH e H EE H w2
(1) @ @

(2) 98 I

3T 80,000 Fo, T FOT 2,000 o
U1 G R % fIC 9EuE 4,000 Fo
? 9% oEwEd ¢ B ERw =i # R
1,000 o F WEYH & | @9 g & @
& AW/ oy ® i g and ?

(1) 5,000 %o (AM)
(2) 3,000 %o ()
(3) 1,000 Fo (7T)
(4) 5,000 Ho ()
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113.

114.

115.

A

Which of the following will not affect
the funds flow statement ?

(D
(2)
(3

Purchase of personal computer
Sale of machinery

Redemption of debentures at
premium

(4

Depreciation provided on plant
and machinery

Match List - I with List - II and
select the correct answer using the
Codes given below the lists :

List - 1 List - II
A. Goodwill of a company 1 Current liability

B. Overdraft II Intangible Assets
C. Preliminary IIT Reserves and
Expenses Surplus
D. Premium on issue of IV Fictitious Assets
shares
Codes :
A B C D
(1) I 1 IV 1II
2 I IT v III
3) I Im I 1Iv
(4) II I I 1v
Controlling function of an

organization is

(1) Forward looking

(2) Backward looking

(3) Forward as well as backward looking

(4) Neither forward looking nor
backward looking

Debtors are Rs. 80,000; bad debts
Rs. 2,000 & provision for bad debts is
Rs. 4,000. It is desired to maintain a
provision for bad debts of Rs. 1,000.
State the amount to be debited/credited
in profit and loss account

(1) Rs. 5,000 (debit)

(2) Rs. 3,000 (debit)

(3) Rs. 1,000 (credit)

(4) Rs. 5,000 (credit)

P.T.0.



116.

117.

118.

119.

120.

121.

oRgear fafy % s 3 fw
Rt e fawr # omt § SR o

...........

H1 (@2 2 @ 3

fasia wdgs &1 T B

(1) Iy e & g9 @
iy frar s

(2) U 9RH F 9T F IAAEHAH
fFaT =g

(3) |9 AURE F ¥4 F AEaH
fFar wmq

(4) F9a1 TR B AT B HAEaH
T s

™ AR B W W d 3 g
Ie B T B ¥

(1) @H-21 Usweede G

(@%ﬁrw

(3) T WERT # T @

(4) T4 WEER F I @

THA H AFH F @ g8 § e
FA P UfEaT A FEd 2

(1) FHameT  (2) s
(3) @t (4) gum
gﬂﬁﬂi‘mwaﬂmﬁﬁﬂqﬁmmm

“4) 4

--------

(1) SfafRd d@me+ @

(2) IUE [A9rigEr &1

(3) FETTH TS H

(4) @EOAET A &

Fret § § 941 a9 @@l ® 7

(1) R B et g forar s 2
(2) ;aﬁquﬁqﬂc‘hmm%@w

@) ffmE fug 9&@% T92 @93+ 3
fow foram o 2

(4) " W 37 R Bog f awaEiy
fres @ed ¥
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118.

119.

120.

121.

e . days grace are added in
terms of the bills to calculate the date

of maturity.

M1 @ 2 @ 3 (4) 4

The goal of financial management is to

(1) Maximise the  wealth of
preference shareholder

(2) Maximise the wealth  of

Debenture holder

Maximise the wealth of equity
shareholder

Maximize the profit of equity
shareholder

(3

(4)

On admission of a new partner
increase in the values of assets is
debited to
(1) Profit
account
(2) Assets account
(3) Old partner's capital account
(4) New partner's capital account

and Loss adjustment

.................. is a process of entering in
the ledger the information given in
the journal.

(1) Journalizing (2) Double entry
(3) Posting (4) Narration

Grouping of activities on the basis of
product lines is a part of

(1) Delegated organization

(2) Product departmentalization

(3) Functional organization

(4) Autonomous organization

Which of the following statement is
true ?

(1) A bill of exchange is drawn by
the payee

A bill of exchange is drawn by
the creditors

A bill of exchange is drawn for all
cash transactions

A bill payable on demand is
called time bill

(2
(3
4



122.

123.

124.

125.

126.

(2) 1,000 o F [T U F=
erET TE

(3) 1,000 To # fImg amd @
A¥EET 100 FI FTAT

(4) 1,000 To FH fIFg aUd@ @

............

gdt -1
A. THIEHT I Fwa STt
B. uHfyFrt sfregat 11 w90 % @ 99 =R
C.qvi wfereqat 111 Rremefrg Seme
D. STeias IV @ s
fd‘ :

A B C D
(1) I III I v
(2 1 II v III
3) II1 1Iv 11 I
4 IV 1 Inr 11

qd § awis S5 @
foTT wrEd| @9 3ar B 7
(1) T &R

2) o 5=

3) Red 3% offw sfoear
(4) ST T Rt sfdfEm, 1949
T A DT R B G 7ET R ?

(1) FEE i G Jea
(2) @9-gIf ST T

(3) onfifs feafy sa &
(4) %% Ryl 9 F0

oY F B
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124.

125.

126.

A

Which of the following errors will be
rectified through suspense account ?

(1) Sales return book under cast by
Rs. 1,000

(2) Sales return Rs. 1,000 not
recorded

(3) Sales return Rs. 1,000 recorded
as Rs. 100

Sales return Rs. 1,000 recorded
through purchase return book
The board of directors of joint stock
company is elected by

(1) General public

(2) Government bodies

(3) Shareholders

(4) Employees

Match List - I with List - II and
select the correct answer using the
Codes given below the lists :

(4)

List -1 List - 11
A. Monopoly I Price Taker
B. Monopolistic IT Homogeneous Product's
Competition Price Maker

C. Perfect competition  III Heterogeneous Product
D. Oligopoly IV Price Rigidity
Codes:

A B C D
(1) II I I IV
2 1 II Iv I
(3 II IV I I
4 IV 1 I 1I

In India, the Commercial Banks are

given license of operation by

(1) State Government

(2) The Ministry of Finance

(3) Reserve Bank of India

(4) Banking Companies Regulation
Act, 1949

Which one is not the objective of

Book Keeping ?

(1) To know the number of workers

(2) To ascertain profit and loss

(3) To ascertain financial position

(4) To ascertain cash position

P.T.O.
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Tt a&] @ B § qitEe & S
a # A mEr B AR
a9 7 FHEAT & 7

(1) |07 F 9 =
(2) HIT @t giET e
(3) M A TF =
(4) HOT F P A

Frer & & 9 s aF-a-sfT oo
fafy & 7

(1) Rreyor (FfE)

(2) FHI-FH AW /THAA

(3) THEHE A (B W)

(4) Tt

Th AL H AT §E Fo 1,00,000 ¥
SHI #F Bo 45,000 fIa T Fo 40,000
R o a1 ety geT 2

(1) To 15,000 F &4
(2) To 15,000 % &
(3) To 60,000 F A
(4) o 60,000 FH BT

IUAFT GO SfAEE, 1986 F T
108 15 % AR HeAq a9 ohal ¢

(1) a8 = o e Foger & 1
IgS qEar T

(2) T& =k ot Rfgw o9 ¢ @ 39
9% I qrgar 1@ &

(@) T& A S Ben Foge &A@
IEH qgar @A & U9 98 A
Nt Rfgee o9 B3 @1 99w @
AT T 8

(4) y& =i
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A measure of the responsiveness of
quantity demanded to changes in the
price of a related good is known as

(1) Cross Elasticity of Demand

(2) Substitution Elasticity of Demand

(3) Complementary Elasticity of
Demand

)

Which among the following is an On-
the-Job training method ?

(1) Coaching

(2) Class room lectures/conferences
(3) Case study

(4) Films

Price Elasticity of Demand

Cost price of a machine Rs. 1,00,000
accumulated depreciation Rs. 45,000
sale price Rs. 40,000. How much is

the loss or profit ?

(1) Gain of Rs. 15,000
(2) Loss of Rs. 15,000
(3) Gain of Rs. 60,000
(4) Loss of Rs. 60,000

In the District Forum under Section
10 to 15 of the Consumer Protection
Act 1986, who shall be the President ?

(1) A person who is or has been or is
qualified to become District

Collector

(2) A person who is or has been or is
qualified to become District Judge

(3) A person who is or has been or is
qualified to become District
Collector and a person who is or
has been or is qualified to become
District Judge

(4) Chief Justice
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A

Which of the following does not
characterize business activity ?

(1) Production of goods and services
(2) Presence of risk

(3) Sales or exchange of goods and
services

Salary or wages

(4)

On receiving the returned goods from
the buyer, the seller sends

(1) Debit note

(2) Promissory note

(3) Bills of exchange

(4) Credit note

When preparing a bank reconciliation
statement, if you start with an

overdraft as per passbook, then
"cheques deposited but not yet
cleared" are
(1) Added

(2) Deducted
(3) Not required to be adjusted
(4) Carry forward

‘Contingency Approach’ to leadership
was given by

(1) Fiedler

(2) Henry Fayol

(3) Elton Mayo

(4) Herbert A. Simon

Which of the following is not a principle
of management given by Taylor ?

(1) Science, not rule of thumb

(2) Functional foremanship

(3) Maximum not restricted output
(4) Harmony not discord

Which of the following items is not
shown under the heading 'Reserves
and Surplus' ?

(1) Capital reserves

(2) Provision for the bad debts

(3) Credit balance of Profit and Loss
account

General reserve

(4)
P.T.0.
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When a firm maintain a cash book, it

need not maintain

(1) Journal proper

(2) Purchase (journal) book

(3) Sales (journal) book

(4) Bank and cash account in the
ledger

Which of the following statements
does not clearly distinguish between

entrepreneurship and management ?

(1) Entrepreneurs found the
business; managers operate it

(2) Entrepreneurs are the owners of
their business; managers are
employees

(3) Entrepreneurs earn  profits;

managers earns salaries
Entrepreneurship is once for all
activity; management is
continuous activity

(4)

The term opportunity cost refers to

(1) Variable cost

(2) Short - run cost

(3) The cost foregone in favour of
production of another product

(4)

Cost related to an optimum level
of production

X Co. Ltd. purchased assets worth
Rs. 28,80,000. It 1ssued debentures of
Rs. 100 each at a discount of four
percent in full satisfaction of the
purchase consideration. The number
of debentures issued to vendor is

(1) 30,000 (2) 28,800

(3) 32,000 (4) 28,000

Prepaid Insurance Premium is shown
as

(1) An asset

(2) An expense

(3) A liability

(4) No adjustment is required
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A

What does in economic

growth ?

change

(1) Structure of economy

(2) Mindsets of people

(3) National Income

(4) All options are wrong

Which is the par.t of external
environment ?

(1) Employees

(2) Company policies

(3) Demography

(4) Management structure

Prepaid expense is
(2) Income
(4) Liability

(1) Expense
(3) Asset

A complaint can be made to District
Forum when the values of goods and
services in question, along with the
compensation not
exceed

(1) Rs. 5,00,000

(2) Rs. 10,00,000

(3) Rs. 20,00,000

(4) Rs. 25,00,000

claimed does

In India, which of the following is
prepared on the guideline of AS - 3
(Accounting Standa_rcls -3)?

(1) Balance Sheet of a Company
(2) Funds Flow Statement
(3) Cash Flow Statement

(4) Consolidated Financial Statement

|y 6 S
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Which of the following is correct ?

(1) Operating profit = net profit — non
operating expenses — non operating
incomes

Operating profit = net profit + non
operating expenses + non operating
incomes

Operating profit = net profit + non
operating expenses — non operating
incomes

Operating profit = net profit — non
operating expenses + non operating
incomes

(2)

3

(4)

In a Cooperative Society the principle
followed is

(1) One share one vote

(2) No vote

(3) One man one vote

(4) Multiple votes

Which one
Communication ?

(D)
(2)
@)
4

At
partner, if goodwill appears in the
balance sheet, it should be written
off. For this capital account of all

is not a barrier of

Technology barriers
Cultural barriers
Linguistic barriers

Colour discrimination

the time of retirement of a

partners are

(1) Debited by the new profit sharing
ratio

Debited by the equal ratio
Credited by the new profit
sharing ratio

Debited by the old profit sharing
ratio

(2
3

(4)

Level-3/171
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Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O ©o

The answer will be treated wrong, if it is marked, as
given below :

© ® © &

If you fill more than one circle it will be treated as a
Wrong answer.

Rough work should be done only in the space provided
in the Test Booklet for the same.

The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to

be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature,

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.




	0 001.jpg
	0 002.jpg
	0 003.jpg
	0 004.jpg
	0 005.jpg
	0 006.jpg
	0 007.jpg
	0 008.jpg
	0 009.jpg
	0 010.jpg
	0 011.jpg
	0 012.jpg
	0 013.jpg
	0 014.jpg
	0 015.jpg
	0 016.jpg
	0 017.jpg
	0 018.jpg
	0 019.jpg
	0 020.jpg
	0 021.jpg
	0 022.jpg
	0 023.jpg
	0 024.jpg
	0 025.jpg
	0 026.jpg
	0 027.jpg
	0 028.jpg
	0 029.jpg
	0 030.jpg
	0 031.jpg
	0 032.jpg

